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Answers may be written either in English or in
Hindi; buwt the same medium should be used

throughout the paper.
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© Attempt all questions. All questions carry equal marks.

Answers should be short and specific.
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1. (a) During the last few decades, a number of

(b)

2057

environmental, hiring and other regulations have

-been imposed on corporate. In view of these

regulatory  changes, is maximization of

shareholders’ wealth any longer a realistic

objéctivéf';Eiaboraté. 1
Explaiﬁn the following :

(). F{s};er‘s rate of intersection

(i), Fipancial leverage ) | 8

Or
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(a) What are the important financial decisions? How
are they related? Also explain risk return trade off
involved in each of the financial decision. 7

(b) The silver sand resort is comparing a half dozen
capital improvement projects. It has allocated Rs.
1000000 for capital budgeting purposes. The
foliowing proposals and associated net present
values ( NPVs) have been determined. The

projects are independent of one another.

Project Investment (Rs.) NPV(Rs.)

A 500000 610000
B 150000 142500
C 350000 420000
D 450000 531000
E 200000 238000
F 400000 420000

.. I projects are not divisible and strict capital
- rationing for only the current period is assumed,
" which of the projécts should be undertaken? What
will be the total NPV of such an optimal mix of

projects? Specify your assumptions, if any. 3

2057 3 [P.T.O.
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2. (a)
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LITCIEEL e (3.) NPV (%.)

A 500000 610000
B 150000 142500
C 350000 420000
D - 450000 531000
E . 200000 238000
F 400000 420000

afe gferrd fenrswr w8 € ok SFaa = ety &
forg et ft e o forn sime &t e wieisret
%! o1 =R ? gfEsETet & 96 W & 3uan i

1 %ol NPV 91 511 ? 32 3018 & & aras aafinmgt =)

s Hifsm) ' | 8

How does inflation affect evaluation of capital
projects? M/s Raj Mehta is considering purchase
of a new machine which will cost Rs. 3,60,000 and
have an economic life of 6 years with no salvage
value. The expected Earnings before depreciation
and Taxes (EBDT) is Rs. 70,000 p".a. which is
subject to nflation of 5% p.a. Assume the tax rate
is 30% and depreciation is cHarged on Straight line
Basis. Calculate :

5 : {P.T.O.



(1) nominal! CFATS of the machine
(i1) real CFATSs of the machine.

(iii) If real cost of capital is 12% should the
machine be purchased? 7

(b) Mr. Rohit has recently joined as the finance
manager 1n a manufac_turing company. His
subordinate has provided the following details
about a project which is currently under
consideration.

Initial investment : Rs. 8,00.000
Project iife : 8 years

Cost of capital is 14%.

Annual data (Year 1-8)

(Rs)
sales 1000000
variable cost 750000
fixed cost ’ 50000
depreciation (fixed) 75000
profit before tax 125000
tax @ 40% ' 50000
profit after tax ‘ 75000
cash flows from operation 150000

2057 ' 6
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Based on his experience the subordinate concludes
that the break even level of sales is Rs. 500000
and therefore the company having sufficient
margin of safety of Rs. 500000 should go ahead
and accept the project. Mr. Rohit, however is not

convinced.

Calculate the Discounted cash flow (DCF) break
even sales (in Rs.) which justifies investment in

the project. Should the project be accepted ? 8
Or

Jay Pee Ltd. is considering a proposal for the

installation of a new machinery so as to expand

capacity of production. The new machine is

having a cost of Rs. 50,000 at present. The

appropriate discount rate for such type of

investment 1s 12%.

The new machine is expected to raise the level of
profits for four years. However due to uncertainty
in the expected demand for the product the cash
flows can not be accurately estimated. After
conducting rigorous analysis the finance manager
has arrived at the following probabilities:

7 {P.T.O.
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Year ! Year2 Year 3 ;(ear 4

CF P CF P CF P CF P
20000 4 10000 .2 15000 4 25000 3
25000 .3 15000 .1 25000 .5 30000 .2
35000 .3 30000 .3 40000 .1 40000 .3

40000 4 45000 .2

Using Monte Carlo Simulation, simulaté the
machine's NPV 5 times using the given sets of
random numbers and find out the expected NPV of
the machine.

Random Numbers

\-’ear Set]l Set2 Set3 Set4 Sets

1 19 42 51 67 51
2 32 57 .63 43 33
3 47 31 75 17 83
4 77 11 73 93 23
15



&) o wiEeet % meaied @ whife B e
© ynifea et R 7 e O e U 7% weiE 9wl
o foar 3 @ & oo svr 3,60,000 %. ® @
3Tl TG 6 Y & 3R ahid Foreamoor geo 7 31 O
B 3R 4 B yd wenfit stwefat 70,000 %. 9
74 & R wt 5% wiad whifs 1w o f
30%%aﬂtq§1€m¥ﬂﬁuﬁmmmw
H 7
Wﬁaﬂ'—rﬁﬁm |

(i) i & AHEE CFATS

(ii) =3 % greafoms CFATS

(iii) e g it arafees @ 12% B @ 1w
wledt ifgu ?

(@) firr Al 3w fofwfar soh & R wwas w9

2057

ﬁwﬁ%umwm%@m@%
s & fefefa aredic & @ fm ofeem w
mﬁﬁmaam%: :

AR FEY - 8,00,000%.

- i Ty : g

ISt I AT 14%

9 {P.T.O.



. 2057

i e (a9 1 @ 8)

frht 1000000 %.
it @rma 750000 %.
Fora ema _ 50000 %.
o4 g () 75000%.
FEAN _ 125000 3.
@ 40% ' 50000 %.
FHUT A 75000 %.
sk B dg vams 150000 %.
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CF P CF P CF P CF P

20000 4 10000 .2 15000 4 25000 3
25000 .3 15000 .1 25000 .5 30000 .2
35000 .3 30000

)

40000 .1 40000 .3

40000 4 45000 .2
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af  #e B2 W3 W4 WS-

1 19 42 51 67 51
2 32 57 63 43 33
3 47 31 75 17 83
4 77 11 73 93 23
15

3. (a) Explain the following :
(1) Pecking order theory

(11) Merton Miller argument regarding capital
structure 8

(b) The Oxford Dictionary Company has net operating
income of Rs. 100 lakh and Rs. 200 lakh of 7%
debt. The earnings of the company are not
expected to grow, and all the earnings are paid out
10 sharcholders in the form of dividends. In all

cases assuime no taxes.

2057 12
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(i) Using the net operatirigiincome approach with
cost of equity of 12.5% at Rs. 200 lakh debt
level, compute the total value of the firm and
the overall cost of capital.

o

(ii) Assume that the firm issues é_q additiona] Rs.
100 Jakh in debt and uses the proceeds to
retire equity capital. Also assume that the
interest rate and overall cost of capital
remains the same as in part (i) above.
Compute new cost of equity. What will be
total value of the firm in this case? | 7

Or-

Trident Ltd. presently has no debt and 1,50,000
equity shares outstanding of Rs. 10 per share and
selling at Rs. 25 per share. In order to finance an
automation program, the company needs Rs. 25
lakh of additional funds which can be raised either

" by the issue of 1 lakh equity-shares at Rs. 25 per

share OR issue of 10% debentures. for Rs. 25

lakh at par.

After automation the cémpany will save huge
cost savings and hence EBIT will have an
expected value of Rs. 5 lakh p.a. normally

13 [P.T.O.



(b)

distributed ' with: a standard ' deviation of Rs. 1.5

t. . lakh. The corporate tax rate is 30%. Calculate

(i) 'Indifference level of EBIT between 2 options.

(u) What is the probability that debt alternative is

better than equity alternative with respect to
EPS"

i

(111) Adwse the company as to which plan is
better. 8

"Net 6per‘atihg income (NOI) theory and
Mofligliani‘ Miller hypdthesis of capital structure
are same”. Comment. Do you think taxes affect
capltal structure dcmsmn of a firm? How" 7

\

(m) ﬁm%f@aaﬁm@na‘?rraq

(1) ofen sy g
(ii) s Tern 3 i A v PR 1 o 8

(@) -wiFwR femmd St R frea y=mm 3@ 100

1

2057 .

A %, B 3C7% R F 200 T %, HExsEY
313 g Fi S T R o g St #y
ST & T 0 & T &1 u o R oft Rl
4 H A @ B

£l

14



() Woa JSER T 90 H ST w1, e
200 AT % TR A 6 G 12.5%
2, mﬁmﬁawaﬂvﬁﬁaﬁﬁﬁwm
&1 e iR )

(i) mﬁﬁﬁq%mﬁm%%ﬁ_ﬁ‘ioommaﬁ
T i Tt el & ik e e Y R

| et it % 2 A R
| e fo =t o2 3fie e formment gt ) wmma
i Tt & vl @ forel e W u () 31 e
. 7§ T w1 Afimer i 38 H v
FPAGEFEMY? o 7

YA

(%) T i R o v w0 78 2 ok sk

U 10 % §fd IRR T 1,50,000 SREE A ES

25 %. Wi I F feumw @ fow @ §) o wEem

Sﬁméﬁ%q%ﬁwwﬁ%%qmﬁzs '

| g . maﬁfﬁ?ﬁ%mﬁqﬁiﬁmﬁzsznﬁ

S, YA | AR e S sl e 7 g ™

S zswm%m%a@%&mmmm%m
' _'rﬂm%l o

2057 15 ' " [PT.O.



)

2057

= % UTE 9 ) T | ol s=d il aii
39 W EBIT 1 JaT3Td e 5 ong . 9 a g
@ ¥ 1.5 offe 5. & waw e ¥ g
ferafa for stmom 1 et # et 30% 21

qﬁm‘«?‘ﬁﬁu o 8

() ﬁﬁwﬁ%aﬂamnmmw

(ii) THh! wTieRar =1 & fF 3w fieeg EPS =i 2ER
Tu sferrdt foreped @ wEae B 7
(iii) St ) Herg e B Fiae B dear g

et sraer st (NOT) frgrr ok doft s )
AifferEt fier siwerm aom 217 Ruht Hifvg)
AT R A W w1 w F G de ga
Fofer o s g 2 354 7 7

Explain the following : -

(i) Pure residual theory of dividend

(ii) Dividend signaling theory |

(Explain Baumol' s model of cash management,

You are glven that Sankhya Lid. requires Rs. 25
lakh in cash for meeting 1ts transactlon needs over

the next 6 months, its planning horizon for

16



(2)
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liquidity decisions. The company currently has the
amount in the form of marketable securities. The
cash payments will be made evenly over the six
months planning period. The company earns 10%
annual yield on its marketable securities. The
conversion of marketable securities into cash
requires a fixed cost of Rs. 1200 per transaction.
What is the optimal conversion size as per
Baumol's model? 7

Or

What is Modigliani Mitler (MM) hypothesis on
dividend? You are given that Alex Ltd. currently
has 300000 shares outstanding selling @ Rs. 30
each. The company has net profit of Rs. 30 lakh
and wants to make new investment of Rs. 45 lakh
during the period. The company is also thinking of
declaring dividend of Rs. 5 per share at the end of
the year. Company's cost of capital is 14 %.
Assume that MM hypothesis on dividend applies,
what will be the price of the share at the end of the
year if :

(1) dividend is not declared.

(1)) dividend is declared.

17 [P.T0.



(b)

(iii) How many new shares must be issued if
dividend is declared ? 8

A company is currently selling 100,000 units of its _
product at Rs. 30 each unit, At current level of

production the cost per unit is Rs. 25, of which .
variable cost per unit is Rs. 20. The company is
currently providing one month credit to its
customers and its average collection period at
present is 30 days. There-is no bad debt loss on
current level of sales. The company plans to
extend credit period to two months (60 days) in
the expectation that the sales will increase by 25
per cent. The extension of credit period will resulit
into bad debt loss of 5% on total sales. The cost of
capital is 15% and corporate tax rate is 40%.
Should the company extend its credit period?
Show all calculations. Specify your assumptions,
if any. _ 7
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“Merely increasing the level of current asset
holding does not necessarily reduce the risk of the
firm. Rather the composition of current assets,

whether highly liquid or highly illiquid, is the
important factor to consider”. Comment. 8

20



(b) S Ltd is considering the acquisition of T Ltd on
share exchange basis. The financial data for the

two companies are given below:

. SLud. Tltd.
Profit after tax ( Rs. '000) 400 300
No. of equity shares (‘000) 100 150
Market price per share (Rs.) 60 20

T Lid. expects an offer of 125% of its current

market price from S Ltd.

(1) What is the exchange ratio of shares? How many

new shares will be 1ssued?
(1) Whatis S Ltd. EPS after merger?

(ii1) If the P/E ratio after merger is 20 times, what is
the market price per share of S Ltd.”? 7

Or

Explain the following :
(1) Leveraged buyout
| (11} Demerger |
(iii) Operating cycle Vs. Cash cycle
(iv) Credit policy variables 15

2057 : 21 : [P.T.0.
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(i) S Frfins = frem % Twaq EPS T 27
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